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Precalc 4.7C: Inverse Trig Functions
Obj: to eval. inverse trig functions & composition of inverse

trig functions; to apply props. of inverse trig functions
Hwk: Finish "4.7 Inverse Trig Functions" worksheet

4.7 Performance Assessment - FRIDAY
Do Now:
1. Recap:
a. State the domain & range for each inverse trig function:

sin(x): D: 7] R [-T 1\

cos(x): D: _ 1,13 Ri _/o,7]
tan }(x): D _ (-00,00) Ri_(Z Z)
2. Find the value of each of the following: L 73
% a. arc cos _‘@ JZ b arctanO c. arc sinT— 5 ] “%I
i 2 Jiz= ) F, tany=o T
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o'=F y=|7 T Y39°
d. sin? sm 2 ) e. cos (cos ;] f. TC‘“ GF'C*C"‘L \f
[5,5]%" 13 7Y o
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Recap:

Y= “:cr' sin x y = arc cos x y = arc tan x
y= sinx y = cos™x | v Sanhe
Def: Def:
:( = arc sin x Domain:[-1,1] y = arc cos x Domain:[-1,1] Def:
iff o [ - r(] iff Range : [0, ] Y= arFf;anx Domain:: ("-’-‘ m)
—— ange:|——, = I
siny = x 2'2 tany = x Range 22

If you see “arc” or sin '(x), give the ANGLE MEASURE (in
RADIANS).
e Check domain, then draw triangle in appropriate quadrant &

find angle w/ given trig value

Inverse properties of Trig functions: (when trig ratios/
functions are the same)

ggygg then

sin (arc sin x) = x and arc sin (siny) =y

e if-1<x<land-

e if-1¢<x<land 0<y<m then
cos (arc cos x) = x and arc cos (cos y) =y

o if -0 < X < o and -"2f<y<72T then

tan (arc tan x) = x and arc tan (tany) =y

*If evaluating a TRIG FUNCTION, your answer is a RATIO
*If evaluating an INVERSE TRIG FUNCTION,
your answer is an ANGLE
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Examples:
1. sinarcsin (2} 2. sin ar'csin£3} 3. cos arccos (7)

-1,13?v L<,1] ?w C-1,1)7 v
=13 not in domain.
4. cos (cos'17) B. tan ar‘cTan(IOO) 6. Tcm(mn'1 n)
C-1,13 ? No (-@@) 2 ~0,p) 2

100

V)

T

not in domain.

The inverse properties only apply to DEFINED values of x & y.
(i.e. in correct domain or range)

e.g. arcsin[sin3;] = 32“ right? o0/

REWRITE in allowed range with equivalent angle:

ar‘csin[sin[-gn = —121 OR
EVALUTE inside function first

inSM = _ -

n 1 soarcsin(-1)=- 2
If trig ratios/functions are same, check domain/range:
Examples: %
7. arc sin[ ' 1? ='JZ-] 8. arc tan(tan n) = O |9. c05‘1[cos5;)= %’r

§ [zgie r, (HE)w co, M7 T
aresinl-4) . Py
0
= ".g (-1,0) (,0) J A =1
. rCtan (0) 2
-wgm ansle mcr Cos™' ()
ran=o °
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If trig ratios/functions are different, draw a ref. triangle:

Examples: _;2

4 10. cos ar'csin[— 24] 11. sin{mn‘l{ BH 12. Tan[ar‘c cos-g)
h - 25 4 5
2

h

= |+ Izr -3 = -2
T |as 5 t 2
-
® « >
) -2y -2 °
"JI‘ 2 |
2 5 _’g:

ﬂ2-'-“ é“\
6 # 22 (2¢)24 1*

c
| c2=49x?+
e

ki

In assigned groups students work on:
e "Section 4.7 - Inverse Trig Functions"”
e Finish for HW
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